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BN OB 25g X mg 7>, F7=, 1 kg >,

1000 £ 1000 f= 25g:25><1000mg:25000mg
S 5g=25 kg=0.025k
1mg 1g 1kg 25g=2 %1000 g=0.025kg
L P ~
P 20g DB H D & 500mg DB H Y EEDOETEEIXT g ),
1000 1000 500mg=0.5g  20g+0.5g=20.5g
.
B xoitsziiasn,
(1) 2kg= g (2) 40kg= g
(3) 1.5kg= g (4) 0.8g= mg
(5) 0.03kg= mg (6) 3000g= kg
(7) 2100g= kg (8) 700g= kg
(99 650mg= g 10 2600mg= kg
B xowmkomiositzkbiasn,
(1) 0.25kg & 150g DWHEDAZHIAT g 7>,
(2) 450g & 1.2kg DMIERDAFHIAT kg D>,
(3] 10mg & 500mg & 50g DMIKRDEEDEFHIAT g />,




